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sum =0
for 1 in range(1,101):
sum += i
print(sum)

(1) 5050
(2) 5051
(3) 100
(4) 101
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num = 21
sum=9
while sum % num != 0:
sum = sum * 10 +9
print(sum)

(1) 99

(2) 9999
(3) 999999
(4) 99999
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def Fee(num):
num = int(num)
fee=0
if num <= 10:
fee +=num * 1.1
elif 10 < num < 20:
fee +=10 * 1.1 + (num-10) * 1.2
print(fee)
num = int(input('i# * & #:"))
Fee(num)

(1) 16.5
2) 17
(3) 17.5
(4) 18
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(1) %#@:f

(2) ze8r

(3) iy

(4) 77

( )7 TAIR- BsE T+ EiE(E-Mail)& B ?
(1) SMTP(Simple Mail Transfer Protocol)

(2) POP3(Post Office Protocol - Version 3)
(3) IMAP(Internet Message Access Protocol )
(4) FTP(File Transfer Protocol)

( )8 FHAAERE:EFNRRE bk BHIFTINEEARP?
def degree(celsius):

fahrenheit=celsius*1.8+32

print(fahrenheit)
degree(num)

(1o

(2) 89.6
(3) 32.9
(4) 64.8

()9 F- #3407 ¢
def Test(a, b, ¢):
answer=((-b)+(b*b-4*a*c)/2)/(2*a)
print(answer)

plet e Test(l>-403) € @R 2% %

(1)3
(2)4
(3)5
(46

() 10. SELECT, INSERT, DELETE,UPDATE 45 4 /"% i #7 %] ¢ SQL P i 5%
(1) T4 7 (DAL)
(2) FH#4413% % (DCL)
(3) F# 2 %% 3 (DDL)
4) & 173 % (DML)
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